Question 1: 
Given the following null and alternative hypotheses:
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a. Establish the appropriate decision rule for each of the following test statistics: p-value, and z.

b. Indicate the appropriate decision based on the sample information and each of the decision rules.

c. Suppose the hypothesis that would not be declared true unless the sample data strongly indicates that it is true were
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. Produce the appropriate null and alternative hypotheses.

Question 2:

A telemarketing company located in Los Angeles has established a guideline that states that average time for each completed call should be 4 minutes or less. Recently the operations manager was concerned that calls were taking too long. The operations manager did not wish to assert that the calls were taking too long if the sample data did not strongly indicate this. A sample of 12 calls was selected and the following times (in seconds) were recorded.

	194
	278
	140
	245
	268
	255

	190
	220
	234
	102
	208
	190


a. Construct the appropriate null and alternative hypotheses.

b. Based on the sample data, what should the operations manager conclude? Using the test statistic approach, test at the 0.10 significance level.
c. Referring to your answer in part b, which of the two statistical errors might have made in this case? Explain. 

Question 3:
The state insurance commissioner believes that the mean automobile insurance claim filed in her state exceeds $1,700.  To test this claim, the agency has selected a random sample of 20 claims and found a sample mean equal to $1,733 and a sample standard deviation equal to $400. They plan to conduct the test using a 0.05 significance level. Based on the sample data, what should the state insurance commissioner conclude? Be sure to show the decision rule clearly.
Question 4:
Given the following null and alternative hypotheses:
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Test the null hypothesis based on a random sample of 
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level. Use the critical value approach to test the hypothesis.

Be sure to show the decision rule clearly.

Question 5:

A contract with a parts supplier calls for no more than .07 defects in the large shipment of parts.  To test whether the shipment meets the contract, the receiving company has selected a random sample of size 200 parts and found 25 defects. If the hypothesis test is to be conducted using a significance level equal to 0.025, 
a. Construct the appropriate null and alternative hypotheses.

b. What is the test statistic and what conclusion should the company reach based on the sample data?
i. Using the test statistic approach.

ii. Using the p – value approach.
c. Referring to your answer in part b, which of the two statistical errors might have made in this case? Explain.
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